An analytical solution of the two star sight problem of celestial navigation
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iter Err Be Le Bl L1 B2 L2 GHA1f decif GHA2f dec2f
0 73.9222493  45.999997 -45.017765 -43.999998 -44.983144  45.999997 -45.017765 359.995639 0.719322 44.999 1
1 0.75369094 46  -44.999682 -44  -45.000302 46 -44.999682 359.995636 0.70687 44.999 1
2 0.01350856 46 -45.000006 -44  -44.999995 46 -45.000006 359.995636 0.707093 44.999 1
3 0.00024208 46 -45 -44 -45 46 -45 359.995636 0.707089 44.999 1
4  4.3382E-06 46 -45 -44 -45 46 -45 359.995636 0.707089 44.999 1
5 7.7741E-08 46 -45 -44 -45 46 -45 359.995636 0.707089 44.999 1
11 -44 -45
12 46 -45
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